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+�+ ,
���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � -

+�. /��� &���������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � +0

+�.�+ 1��������� 2�%�
���� � � � � � � � � � � � � � � � � � � � � � � � � � +0

+�.�. 1��������� /������� � � � � � � � � � � � � � � � � � � � � � � � � � +3

+�4 '��������� /������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � .5
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.�+ /������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � .+

.�. *
	�� ���	���#� 6789: � � � � � � � � � � � � � � � � � � � � � � � � � � � � .4

.�4 �
����� �
�	����� &���� � � � � � � � � � � � � � � � � � � � � � � � � � � � .-

.�0 ;����	���
�� 2������	�	�� /��#��� � � � � � � � � � � � � � � � � � � � � � 4.

.�0�+ <��������
��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 4.

.�0�. ;����	���
�� �
 =��	������� <��������
���� � � � � � � � � � � � 4>

.�0�4 ;����	���
�� �
 =��	������%�� <��������
��� � � � � � � � � � � � 05

.�0�0 ;����	���
�� �
 ;�	��	���� *
	�� ���	���# 6789: � � � � � � � 0+

.�? @9ABB9: �#��
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 00

� ����������
 ������� ������������
 ������
 ��

4�+ /������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ?5

4�. �	�	��	��� *��	%�� �	� &��������� /������� � � � � � � � � � � � � � � � ?+

4�.�+ @9ABB9: C��	%�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � ?+

4�.�. ,��������# C��	%�� � � � � � � � � � � � � � � � � � � � � � � � � � � ?4

4�4 ���	���� *%���	�� '��������
��� � � � � � � � � � � � � � � � � � � � � � � � ?0

4�0 *�
DE���%� *%����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ??

4�? ;����	���
�� �
 	�� ���#����� FC � � � � � � � � � � � � � � � � � � � � � ?>

4�?�+ ,
���� 2��� 	�� /�������	���� ;��������� � � � � � � � � � � � � ?3

4�?�. ;��#������ CGHFC � � � � � � � � � � � � � � � � � � � � � � � � � � ?I

4�?�4 ;��#������ CJ@H/* � � � � � � � � � � � � � � � � � � � � � � � � � >?

4�?�0 ;��#������ CJ@HFC �
 CK8A7: 
� 	�� ���	%��� ��	����� � � � � >-

4�> '
�����	��� ;��	
�%���	� � � � � � � � � � � � � � � � � � � � � � � � � � � � 3>
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0�+ /������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � I4

0�. *%����� 	�� ��E���� ����
�� � � � � � � � � � � � � � � � � � � � � � � � � I0

0�4 "����� ;�
	�
��	� *��	%�� � � � � � � � � � � � � � � � � � � � � � � � � � II

0�0 "����� *
	�
���#�
�� *��	%�� � � � � � � � � � � � � � � � � � � � � � � � -5

0�? "����� *
	�
���#�
�� ��� ��	
������ *��	%�� � � � � � � � � � � � � � � -.

0�> '
�����	��� ;��	
�%���	� � � � � � � � � � � � � � � � � � � � � � � � � � � � ->
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������� � � � � � � � � � � � � � � � � � � � � � � � � � � � +5

+�. ������ ��	���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ++

+�4 ������ ��	���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ++

+�0 ��� �� ��	���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � +.

+�? ���!�� ��	���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � +.

+�> "�������� ���#
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � +4

+�3 ��������� $	�
���
��
� �#	 ���%�������	 ��	��	 ��� � � � � � � � � � � +4

+�I ��������� �	�
���
��
� �������%&��� � � � � � � � � � � � � � � � � � � � � +?

+�- ��������� 
�� �&	���� � �
���'%�
� ����	����&�� 
�� (������%� ���

���
���
���� �	����&��	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � +>

+�+5 ��������� �	�
���
��
� ��� �
���'%�
�� ��� ����	����&��� � � � � � � � +>

+�++ )�� ��&*�	��� �� 
�	�������	�� ��� ����	����&�� ��� �� 
�	�������	�� ���

�	�������	��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � +3

+�+. + 
������ �(��� �) ��� �	�������	�� ,-./01 ��� ��� �#	&� �� � � � � � � � � +I

+�+4 21+ 34� 
�������� ��� 51� ���'	� 34� ����%����� � � � � � � � � � � � � +-

.�+ 6����
� ��� 
#��	� -7891 #� ��� ������ -:891� � � � � � � � � � � � � ..

.�. ;� ����� ��� �(�� �) ��������	�	��� ���� ����� �#	 :89< ��� 	� 
������

�� 
������ ���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � .4

.�4 + 
������ �(��� �) ��� �(�� �) ��������	�	��� '��� ��� :89< 
�� 
�����&*��	

�#	&� � �� ��	 �=�	� �#	 �� � � � � � � � � � � � � � � � � � � � � � � � � � � .0

.�0 ������� �
'���
�� �� = �0 cos�+ �0 sin� 
�� 
��	�	� �
' �� &��� 
���&�

��� ���%�������� �#	&��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � .?

.�? ;� ������� �
'���
�� �� = �0 cos� + �0 sin� ����	 
�������� ���%�� � � � .?

.�> 8 ��#������'� �'
�� '�#	 �#	 
���&#	 
�� (��� �) �&	�� �����	������� � � .>

.�3 ��� 
���� 2� ������ ��	 ������ "��'	� ��� 
�� 5� �� >���
������
�'

92?@A 
���&��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � .>

.�I B�&	���� � 
������ �(��� �) ��� ���'	�� ,-./01 
��	 �=�	� �#	 �� ��� �#	&�


���
���%�� �� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � .3

.�- ��������� �	�
���
��
� ��� C�#������� ��	������ �����/ '
�� %�&	����

� �
���	��&� �	���
� 
�� 1�D E@FGHIG ��� 
������� ��� �#	&� � �� ��

2�D E@FGHIG ��� ������� ���'	��� � � � � � � � � � � � � � � � � � � � � � � � 45

4



.�+5 >�C���� �	�����
����� �� �� ����
������
�' E@FGGHIG� � � � � � � � � � � 4+

.�++ 6�#����� �	� ������#	� 
����� 
�� 
������� �� ����	��� ��� �	����
����

��� ���� 
���&�/ �� �
�&� 
����
���	 �� 
��������� � � � � � � � � � � � � 4.

.�+. ;
�
C�
������ ��� 	� 
������ ��� ����� ��� ����
�� �1 ��� ��� �#	&� �� � 40

.�+4 8 ����
������
�'� E@FGHIG ��� ����
�� �
�
C�
������� �1� � � � � � � � � 40

.�+0 + ���%��� 
���
��
� ��� �
�
C�
������� �	'� 
���&��� � � � � � � � � � � 4>

.�+? -�1 ������ ���'	�/ -�1 �� ��&� 
���&� 
�� 
����� �� �
�
C�
������ ���

-�1 � >���
������
�'� 92?@A ��� ������� ���'	��� � � � � � � � � � � � � 43

.�+> -�1 ������ ���'	� -JK2AL@M1/ -�1 � �
�
C�
������ ��� ��� -180�1 ��� -�1

� >���
������
�'� 92?@A ��� ������� ���'	��� � � � � � � � � � � � � � � � 4I

.�+3 N ;
�
C�
������ ��� OKIJJ�:@P2A JK2AL@M/ 
�� �&	�� � ������ ���'	�/

��� '��� ��� �#	&��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 4-

.�+I + ���%��� 
���
��
� ��� 
�	����
�� ��� %&����� 92MJ 
�� 
��&� ���


��	'����� ��� 
�� 
��&� ��� ���'	��� � � � � � � � � � � � � � � � � � � � � 05

.�+- $
�����
���� �
�
C�
������� �� ���%������� %&����/ C�#��	��� ������

���'	� �� OKIJJ�:@P2A JK2AL@M� � � � � � � � � � � � � � � � � � � � � � � � 0?

.�.5 $	�����
���� ���'	�� �� � %#�'	��QJH.IR� � � � � � � � � � � � � � � � � � 03

.�.+ ;����	���
�� 
��#��� �
 .? ��	#���LMANKO � � � � � � � � � � � � � � � � � � 0I

.�.. ;����	���
�� 
��#��� �
 3? ��	#���LMANKO � � � � � � � � � � � � � � � � � � 0-

4�+ (� 
����� 
�� ����@�C�& ��	��� �	�� �
�	���
���'� ���'��C��� �	�����
������ ?3

4�. 8 ���'��C��� S:�4S 
� ���%� ��	���� �
�	���
����� �����&C���� � � � � ?-

4�4 D������' ��	���� ��� �������
&�� 
�������� � � � � � � � � � � � � � � � � � >+

4�0 �����	��
�� ������ ��� PAQQB 
� 	�� ���	%��� �����#	�	
�� � � � � � � � � >I

4�? B�&	���� � �
&���
� ��� ���������� � 
�� 
��
����
� ��� �
'����� �����

��� 
�	����
�� R@PT@<K� + 
�	���� ������ ����	�� ��	 �
'���� ���� ���


�	����
���+ ����������	� ��� � ������ �� 
����� ����	��	 �� �	�
	��


�	����
� ��� � = 1 ��� ��� � = 5 �	�&
������ � � � � � � � � � � � � � � � 34

4�> U����� ���'	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 3>

4�3 (���� ��� VOW9 ��� ��	 S:�4S ���'��C�� ��� 13� 25� 50 
�� 100 %#�'	��

�	� JH.IR� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 33

4�I (���� ��� VOW9 ��� ��	 SU3�4S ���'��C�� ��� 13� 25� 50 
�� 100

%#�'	�� �	� JH.IR� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 3I

4�- (���� ��� VOW9 ��� ��	 SU3�4SS3 ���'��C�� ��� 13� 25� 50 
�� 100

%#�'	�� �	� JH.IR� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 3I

4�+5 $	�����
���� ���'	�� �� � %#�'	��QJH.IR� � � � � � � � � � � � � � � � � � 3-

4�++ $	�����
���� ���'	�� �� �X %#�'	��QJH.IR� � � � � � � � � � � � � � � � � � I5

4�+. $	�����
���� ���'	�� �� XY %#�'	��QJH.IR� � � � � � � � � � � � � � � � � � I+

4�+4 $	�����
���� ���'	�� �� �YY %#�'	��QJH.IR� � � � � � � � � � � � � � � � � � I.

0�+ $����� ���'	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � -3
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0�. (���� ��� VOW9 ��� �� Z#���� >�������'��	� >�	���� �	� [����C�	
�

��� 13� 25� 50 
�� 100 %#�'	��QJH.IR� � � � � � � � � � � � � � � � � � � � � � -I
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